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1. Cambridge is a small city the east of England.
A. between B. in C. with D. under
2. I heard the teachers well of him.
A. speak B. spoken C. to speak D. to speaking
3. There will be jobs for people because some robots will do the same
jobs as people.
A. many B. more C. fewer D. fewest
4. Father won’t allow me to play outside I wash up the dishes.
A. if not B.if C. because D. unless
5. Without water, there no life on earth.
A.is B. was C. would be D. have been
6. Mum, what are you cooking? It so sweet.
A. tastes B. feels C. smells D. sounds
7. I saw Ken in the meeting room, he with Joe.
A. talks B. was talking C. has talked D. talked
8. She didn’t go to school yesterday;
A.NordidI B.SodidI C.Nordo I D.Sodo I
9. Would you mind my baby for a while?

A. look after  B.to look after  C. looking after  D. looked after
10. He came from Miami, Jean had once spent a holiday.

A. which B. there C. when D. where
=, RNEIRMR (2545, AN H)

Cars are lots of fun, but they could also be dangerous. We have to be careful

when we drive them or ride in them.

#06 UL, ABIL 8 W



It’s always a good idea to put on your seat belt when you’re in a car. Why?
Think about this example: You put an egg on a skateboard and give it a push. If
the skateboard hits a stone, it will stop, but the egg won’t. It will fly through the
air, hit the ground and break.

Now, think what would happen if you tied the egg to the skateboard. When
the skateboard hits a stone, the egg won’t go flying. It will stay safety on the
skateboard.

Volvo, a famous Swedish carmaker, was the first to use seat belts in 1949.
Air bags are also very important for car safety, because sometimes a seat belt isn’t
enough.

Most new cars have air bags in front of and next to the seats. When a car hits
something, its air bags will come out quickly — in less than one second — to

keep the people inside safe.

11. We have to be careful in driving a car mainly because it could be
A. little fun B. a pleasure
C. alot of people D. a great danger

12. The example of an egg on a skateboard is used to show that
A. eggs break easily on a moving skateboard
B. seat belts are important to safety
C. cars should not be stopped suddenly
D. driving is a dangerous act

13. Which of the following statements is TRUE?
A. Volvo was the first carmakeer to use seat belts in cars.
B. People with seat belts will always be safe in cars.
C. Air bags will come out before the cars hit something.

D. All cars have air bags in front of the seats.
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14. According to the passage, air bags are another device that

A. comes out slowly to function  B. is going to replace seat belts

C. adds safety to car driving D. stops cars from running too fast
15. The best title for this passage is

A. Buy a Volvo with Airbags B. Make a Car Safe Inside

C. Fasten Your Seat Belts D. Add Air Bags to Car

=. B1E(x1545)

fRiEAhk 2 200, theg—12 LB A Robert B E-mail P B SEEZ

Bog e, WAL T 255 —4f B-mail ® H 40,
1 BIFHFIRE—TF, BRITITEIR, AA LA,
2. AT H AL TR ) 6 B 18] - B RARAT
3. EEFIF, FRERE,
4. KmFEIDRAZ, RGH THFIEDIEARS.

A48

i Tibet; Z M driving license; ¥2)|#& training courses

CLE -

L ARYE 54, Al = i gy LA S0E S

2. BRI RN, ER . ETTRIA A DR,
3. WHADT 40 N, TR RO I, AT RIARL.

4f eeeescccscscccscccns

®©0 00000000 OCONOGEOGINOGIONOGEONOIONOIOIOS jl::j‘

=5
RS
(AN}



